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A 4R 58 6H 78 88 98 108 118 128 18 28 38
EEYOEE | —BEED —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY
IRENEE (t) 1,971 1,804 1,787 1,525 1,307 1,630 1,821 1,877 1,866 1,751 1,131 1,474
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mEBRILEY m3N/h - / 0.101 0.043 0.0245K 5% 0.044 0.066 0.085 -
o IEVCA (02 12%H & {E) g/m3N 0.15 7 0.003 0.004 0.0025 i 0.002:K % 0.003 5% 0.0055K % -
154%F YEZ220mith i 3
1B 1bkFE (02 12% & 1E) mg/m3N 700 i/ 12 11 5 AR 10 38 -
ERFRIEM (02 12% B H (H) ppm 250 / 111 81 90 60 54 81 -
mEBRIEY m3N/h - ,,/' 0.074 0.097 0.066 0.051 - - 0.0265K 5%
. B2 20mih IFVLCA (02 12%H & {#E) g/m3N 0.15 / 0.003 0.005 0.003k i 0.0025K i - - 0.003 3%
= AETER ik (02 129% R HEfE) mg/m3N 700 / 9 13 13 sk - - 6R i
ZERFIEM (02 12% M H (H) ppm 250 / 106 51 58 57 - - 87
mEBRIEY m3N/h - 0.085 0.079 0.053 0.077 - - 0.024%%
e Y 20mh & IFNCA (02 12% B EE) g/m3N 0.15 / 0.0035 i 0.003K i 0.0035K i 0.0025K ifk - - 0.0035K
= = " |HE1E7KR (02 12% 1) mg/m3N 700 / 30 21 26 5 - - 6K
R (02 12%E(E) ppm 250 / 105 77 93 77 - - 99
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